5. #HUX K

[TREAS LB £
(1) BE%%

XA XD AR

X(-t) 5 XOt#EiZ 7

dX) 5 FEE X-X(-1)

@movav(X,t) ; X Ot HBEIEYL

@pch(X) ; X OELHE (X - X(-1)) /X(-1)
In(X) ; XDOHAL logeX

din(X) ; X OHARREOEZE  In(X) - In(X(-1))

exp(X) ; BEGHEDEe D X FE ()

(2) £ Dfth,
obs ; YT
R2C ; HMEEIERREREK
Constant ; EHIH
T—ErT BEMOT 7R LZEATHMEE DL b0 T, ZHEAOKE (DEGREE) | #AMHIK (S.C)
BROKIMRIR (E.C) OFE, KHONRT A= —LZOEFHEE B# LT,

(3) Mtk ~ 7 T RFEF CTH W ST B il X 4y

[E] LFHE O MK XSy 70 E 2B EIT, LUFO K5 ICHBRIX Sy 247 5,

Hul4, I S

AbifEiE JbifEiE

#AE AR, AT EHMG BKHE, WP, s, BTiR
BE 3R K iR, BES. BER, TIE, AU )l A
Jepe 1NN i

TR KU, IR R, SN,

T B, A, KB, SeE, 28R Rkl

T S AR, R, KR, A

JB]ES| (LN VLN N TS

JUN i, s, R, BEA, Koy, Bk, BERE
it ikl
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5.2 g~ - OEFARM

1. d(InGDP - InKg) ; AR

obs 1645
R2C 0.30
#EETHEARD  [1981-2015

2018 FEHTFHER
5 t{E

Constant 0.008 6.823 [*k¥*
d(InKp - InKg)

0.294 10.554 [***
—EREE 1L 5,
d(InL - InKg)

0614 19.205 [#**
—FBEBIET S,
Okidum* d(InKp = InKg) -0.146 -0.633
Okidum* d(InL - InKg) 0.118 0.703
DLS -0.016 —6.695 [¥*¥*

i) 1% KMETHE, **: b%KIETHE, *: 10%KETHE, UTR L,

2. Cpn/Yzfk; HE L3R

obs 1645
R2C 0.97
#ESHHARS  [1981-2015
2018 EHETEHER
3 &
da1980s 6.005 21.248 [**x deimE
5.431 22.555 %k BEHRE
5.310 22.207 %%k EFR
5.549 22.354 %k BEHE
5.200 22.165 %k AR
5.193 22.096 |*** I}
5417 22.103 [**x EEE
5214 21.931 [%*x RIFIE
5.057 21.851 [%*x HAE
5.002 21.855 % HEE
5.838 22.313 [#%k BER
5.727 22.243 ¥k FER
6.029 21.951 |%kok IR
5.945 22.318 %k wRIE
5.501 22.137 %k FRE
5.004 20.892 [¥*x =LE
5.071 21.146 [*%k aIE
4.904 20.796 |%*x EBHE
4553 21.318 [#%k WHRE
5.069 21.274 [%*x E5HE
5.240 21.825 %k g £ 1R
5.502 21.852 %k FRmE R
5.884 22.119 ¥k BHE
5.086 21.474 |%xx =R
4.898 21.079 %k HER
5.235 21.256 |%*x SUERAF
5.962 21.879 [#%k KERAF
5.589 21.604 [#k EER
5.044 21.532 [k =RE
4.709 20.646 %%k IR
4.748 21.056 %%k BHWE
4.790 20.900 [k BiRE
5.256 21.402 %% FE LR
5510 21.692 %k LER
5.183 21.364 %% =1}
5.008 21.252 [%*x EEE
5.088 21.203 [%*x I
5228 21.314 [¥xk ZIER
4.935 20.920 [**x SME
5.800 22.253 ¥k tErE R
5.022 22.011 [#kok EER
5.289 22.214 %k RIBE
5.268 21.939 %k REXER
5.150 22.045 [#%xk KHE
5.153 22.267 %% =I5
5.267 22.168 [**x ERER
4894 18.446 [xkx Pkl
Oldrate*da1980s 4.482 4.382 ¥k dtimiE
4.644 9.807 [#okx ik
8.658 13.296 [k ESEY
6.088 8.657 [Hkx depE
7.002 10.129 [k P
8.081 11.276 [sokk Plig3
5.561 9.488 [*x hE
5.059 7.807 [kx mE
4.893 8.905 |%kx Pl
9.325 5.267 |*¥x Bk}
d(Oldrate)*da1980s -12.744 —3.473 [sokk




da1990s 6.545 22.925 [¥kx dtimiE
5.986 23.255 [k EHR
5.940 23.016 [#** EFE
6.163 23.053 [k =EHE
5.877 23.178 [#** AR
5910 23.077 [k Wz R
6.087 22.983 [#** BEE
6.207 22.846 %k RRE
6.066 22.826 |¥*x HAR
6.060 22.871 [%kx BES
6.603 22.837 [#kx BER
6.538 22.813 [k FEE
6.911 23.056 |¥** R
6.711 22.829 [%kx AR
6.187 22.989 ¥k HRE
5.852 22.688 [*** =LE
5.858 22.655 ¥k BNE
5.749 22.638 [#** BHE
5.748 22.860 [k T
6.079 22.759 [#kx EHE
6.075 22.854 %k It B2 18
6.308 22.814 [#kx FRREIR
6.591 22.812 [%kx EHE
6.023 22.788 [¥kx =582
5.957 22.782 [%kx HEE
6.255 22.916 [Hkx SRERRT
6.740 22.965 [#kk N
6.529 22.873 [okx EER
6.003 22.900 [#** =pE
5.846 22.895 [k IR
5.609 22.869 [¥** EmE
5.687 22.799 [¥*x ERE
6.086 22.831 [#kk & L2
6.226 22.751 [%kx LEBR
5.974 22.744 [¥kx il=]-}
5.754 23.024 [¥*% mee
5.859 22.939 [#kx FNE
5.957 22.912 [#*x FiEE
5.734 22.916 [%k* S8
6.438 22.958 [#** EEE
5.734 22.986 ¥k EER
5.947 23.016 [#** Ei5E
6.010 22.883 [¥kx EXE
5.869 22.991 [#kk AHR
5.843 23.093 [#k* =IEE
6.029 23.125 [k ERER
5.744 23.324 [¥*% ERIE

Oldrate*dal990s 0.005 0.045 dtisiE
0.144 2.427 |*x =it
0.393 7.010 |k ESEY
0.324 3515 |k JepE
0.404 5.734 |%ook D
0.199 3.232 %ok plig-3
0.193 2.547 |*x FE
0.202 2.550 [*x PuE
0216 3.257 [k Jui
0.978 4.456 |k ik

d(Oldrate)*da1990s -2.531 -3.225 [#kx

Cpn(=1)/Yzfk(-1) 0.637 44.535 [Hkx

In(Yzfk) -0.377 | -22.031 [#kx

IM() -0.437 -4.099 [k
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3. Ip/Kp(-1); REITEEEFEERE

obs 1222
R2C 0.89
[#EtHAR9 [1990-2015
20184 FEHEEHER
(31 tfE
Constant -0.004 -1.222 diEE
0.012 2.916|%%* EHE
0.005 1.406 EFR
0.006 1.506 EHE
0.005 1.853[% #ER
0.013 3.737 [k LWz IR
0.009 3.508|+%% BEER
0.009 2.603 k% FHE
0.007 2.181 [ HARR
0.010 3.057 [*** HES
0.001 0.249 BER
0.007 2.244 %% FER
-0.005 -1.082 R
0.004 1.098 w8
0.005 1.864|* HiRE
0.008 2.789 |#kk =E
0.011 2.854 %%k AR
0.007 2.899 |k BHE
0.010 2,679 |*kx e
0.005 1.920[ RER
0.005 1.304 IR
0.004 1.337 FiE R
0.016 4.634%%% 258
0.024 7141 [Hkk =E5
0.022 6.170 [k HER
-0.004 -0.983 SEBRT
0.004 1.177 KBRAF
0.007 2.219[x* EER
0.005 1.238 =RE
0.005 1.616 AR
0.005 1.404 BEIE
0.004 1.122 BiRR
0.006 2.103 %% FE L2
0.010 3.137 |k L2
0.007 2.509 [ o
0.003 0.854 BHR
0.005 1.345 LY
0.007 2.265 %% BER
0.001 0.265 BER
0.004 1.124 2R
0.002 0.766 EBER
0.011 3.163[#k% RIFE
0.008 2.228[x* REAR
0.015 4.909 [k ROR
0.010 2.987 [k HFE
0.001 0.416 ERER
0.002 0.640 bk
db -0.001 -0.191 g
-0.010 —2.018#x EHE
-0.009 -1.880|* 5FR
-0.016 —3.3425xx =HE
-0.004 -0.838 MER
-0.009 -1.809[* Wiy 2
-0.003 -0.712 BER
-0.008 -1.599 FR
-0.011 -2.207 [#* HAR
-0.009 -1.867[* BER
-0.010 -2.139 %k BER
-0.008 -1.659|% FER
-0.008 -1.615 L i
-0.007 -1.380 )R
-0.007 -1.448 HiRR
-0.009 -1.885|* EWR
-0.016 —3.462 %%k allR
-0.013 —2.802 |k wBHE
-0.012 —2.569 [ WHR
-0.003 -0.713 EHR
-0.007 -1.499 I B8]
-0.011 -2.237|%x #HiE R
-0.019 —3.906 [k BHIE
-0.003 -0.624 =88
-0.019 —3.969 [k HEER
-0.007 -1.378 REBRF
-0.009 -1.821 % KIRAF
-0.004 -0.836 EER
-0.005 -1.009 =RE
0.001 0.136 LR
-0.009 -1.968|** BHE
-0.009 -1.860|* BRE
-0.010 -2.071|** LR
-0.008 -1.739|* LBR
-0.005 -1.041 wng
-0.006 -1.290 BER
-0.007 -1.424 BIE
-0.010 —2.111 [ ZER
-0.009 -1.927| EHE
-0.010 —2.156** &R
-0.006 -1.308 EHER
-0.011 -2.234[%x RIFE
-0.008 -1.676[* AR
-0.012 —2.622[kxx AR
-0.007 -1.539 kR
-0.007 -1.571 ERER
-0.006 -1.314 ShHRIR
@MOVAV(KPPROD,2)
~@MOVAV(LRATE R2) o2 7482
din(GDP) 0.142 16.618 %%k
[Ip(-1)/Kp(=2) 0.711 45.688 %%
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4. NetExp./DD(-1); fifsH A

obs 376
R2C 0.97
HEEHAAR [2008-2015
2018 EEHFHRE
%3 il
Constant -0.050 —5.068 [*** dtiEsE
-0.085 —6.723[*%x EHE
-0.078 —6.882[*x* [RE]
-0.053 -5.301 [*%* BB
-0.093 =7.071 |*k% FEE
-0.078 —6.656 |**k* I8
-0.042 —4.693|%*x% EEE
0.014 1.523 R
0.063 6.137 k% N
0.046 4.846|%¥* BREE
-0.104 —7.492 [¥xx BER
-0.081 —6.919[%%* FEE
0.334 8.913%%* St
-0.031 -3.319 %% )R
-0.036 —3.874[**xx HinE
0.004 0510 =I5
-0.023 -2.455[*x alE
-0.013 -1.458 EHE
-0.030 —3.294 [¥xx WEE
0.012 1.306 EHE
-0.014 -1.636 I B 12
0.108 7.180 %% 5[ 12
0.105 6.967 %% 4B
0.059 6.307 [x** =88
0.017 1.898|* HER
-0.007 -0.772 SRR KT
0.054 5.019 %% KB AT
-0.035 —3.669 |*k* EER
-0.155 —8.996 | *** Z=EE
-0.046 —4.652|%%x MIFLE
-0.113 -8.310[%%* ERE
-0.069 —6.058 |*** EiRE
-0.001 -0.095 i (L1
0.015 1.662[* LER
0.037 3.938[x*x wng
-0.021 -2.250|** wER
-0.017 -1.931|* EIE
-0.045 —4 550 |*** ZRS
-0.123 —8.102[#xx =418
-0.010 -1.092 =S
-0.029 -3.274[%%x EBEe
-0.099 ~7.487 [¥xx EIAE
-0.074 -6.630|*%* BEAIE
-0.042 —4.092 [ %kk KO
-0.079 —6.363 %k BIFE
-0.088 —7.144[%xx EHEE
-0.105 —7.886 |*%* shEEIE
@PCH(Worldmp*Rexrate) 0.059 7.300 |kkx
NETEXP(-1)/DD(-2) 0.180 2517 [*x
PDLOT 0.140 1.688 |*
PDL02 -0.046 -0.383
T—EVIT DR/ DEGREE=1 _ S.C=N E.C=N
2018 EEHFHR
(GDPP-DD)/DD| & i
1 (BTHEA) 0.140 1.688 [*
2 (2HAED) 0.094 1.525
it 0.234 2.863 [k
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5. Kp; REIREEERR MY

obs 1645

R2C 1.00

HESTHARY [1981-2015

2018 EHEHR
¥ i
[8, 0088 | 152571 [+

Kp = (1-8 1) * Kp(-1) + Ip

6. Kg; HEEARRMYY

obs 1645
R2C 1.00
HEEHHARY  |1981-2015

2018 EEHFERE
£ i
[s 0.036 | 177.836 [**x

Kg=(1-8,) * Kg(-1) + g

7. din(PGDP); GDPTIL—4%

obs 1598

R2C 0.59

HEETHART 11982-2015
2018 FHFHER

i i

Constant -0.216 —10.666 |***
GDP(-1)/GDPP(-1) 0.215 10.614 |**x
din(YWH(=1)/GDPN(-1)) 0.045 4.457 [kxx
din(PGDP(-1)) 0.637 41.185 [***
D(CTAX) 0.634 19.048 |**x
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8. ER; BAERE

-77 -

obs 1504
R2C 0.99
HEETHARY  11984-2015
2018 EHFEHR
E tE
Constant -0.063 —2.613|%kk dbiEE
-0.063 -2.618[%%* =HE
-0.061 -2.509[** [TESE]
-0.063 —2.628 |k ERE
-0.064 —2.681 |*kk MEE
-0.062 -2.597 [¥x* Iz E
-0.064 —2.659 |*kk EER
-0.063 —2.634 k% RBE
-0.061 —2.538 %k HAE
-0.062 -2.577[** BREE
-0.067 —2.807 [¥*x BEE
-0.069 -2.913[%%x Fz=E
-0.046 -1.886* R
-0.070 —2.923 |%kk HE)NE
-0.062 —2.592 |k Fing
-0.061 -2.543[%* ZIE
-0.061 —2.542 %% RIIE
-0.052 —2.122|%% BHE
-0.062 —2.590[*** EN:]
-0.061 -2.531[** ERE
-0.063 —-2.625 [**x B2
-0.060 —2.503 %k Erdraly
-0.057 —2.360 %% ZHE
-0.063 -2.608[%%* =58
-0.063 —2.619 %k HEE
-0.063 —2.631 [%x* REE
-0.060 —2.480 %% KBRAF
-0.066 —2.778 k% EER
-0.074 —3.104 |k =RE
-0.066 —2.757 |**x% FFr L8
-0.062 —2.586 |kok SmE
-0.060 —2.494[x% EiRE
-0.063 -2.624[%%x e
-0.062 —2.583 %%k LEE
-0.064 —2.676[%** wag
-0.065 —2.703 |k wEER
-0.063 —2.607 |*kk FINE
-0.063 —2.631 |#kk ZiRE
-0.063 —2.626 |*kk EHE
-0.064 —2.651 %% a8
-0.062 —2.571 %% EER
-0.063 —2.644 %*x RIZE
-0.064 —2.672|%kk REXRE
-0.064 —2.662 |k AHE
-0.063 —2.602 |k EiFE
-0.064 —2.688 |*kk EREE
-0.064 —2.659 |Hkk paihi Ly
(P1519+P2064)/POP
ER(-1) 0938 158.252 %%
PDLO1 0.036 8.212|%*x
PDLO2 0.004 0.780
PDLO3 0.032 4.195 k%%
PDL04 -0.017 -2.375[%x
T—EVIT DR DEGREE=1 __ S.C=N E.C=N
2018 EEHFEHR
@pch(W)-@pch(PGDP)| _ {&#k tiE
1 (RTHEA) 0.032 4570 |%*x
2 (28780 0.036 8.212 |**x
3 (3HEAHD) 0.040 5.927 [#kx
&t 0.108 8.212 [#kx
T—EVIT DR DEGREE=1 __ S.C=N E.C=N
2018 EEHFHE
GDP/GDPP| __ {&#k i
1 (RTHA) 0.049 4.826 |%*x
2 (28780 0.032 4.195 |%*x
3 (3HARM 0.015 1.429
&&t 0.097 4.195 [*xx




9. @pch(W); — Ad1=Y E A& REN

obs 1598
R2C 0.37
#EEHHARY  [1982-2015
2018 EHTHR
JE3 B
Constant -0.013 —3.001 |*k*
@pch(PGDP) 0.687 16.681 %%
ER 0.032 4.444 [xxk
@pch(W(-1)) 0.230 9.998 [sokok
10. din(ZAISAN); BFEEFRIS
obs 1645
R2C 0.25
#EEHHARY  [1981-2015
2018 EHFHE
£ tiE
[din(GDPN) 1.230 21.553 [xkk
[D(LRATE) 0.052 13.617 [
11. LRATE/100; A#t{E[EEEEFIEY
obs 1598
R2C 0.54
#EEHHARY  [1982-2015
2018 EHFHE
3 tE
Constant -0.076 —2.709 [*** JeiEE
-0.077 —2.749 % =HE
-0.076 —2.690 %k EFE
-0.075 —2.653 %k =HE
-0.072 -2.569 [*x EE
-0.069 —2.436 %% w8
-0.071 —-2.516 %% EER
-0.073 —2.596 | %xx PR
-0.071 —2.533 %% HAR
-0.071 -2.541 |%x HEE
-0.075 —2.654 % BEER
-0.074 -2.629 [Hoxk FEE
-0.074 —2.617 %+ St
-0.073 —2.585 %k wE)E
-0.074 —2.648 %% BE
-0.073 —2.591 %% =LE
-0.073 —2.604 [ xkx BINE
-0.073 —2.582 %% BHE
-0.074 —2.640 |xkk T
-0.068 —-2.418|%% RHE
-0.073 —2.603 %% I B2 12
-0.072 -2.555 |%x EEE
-0.071 -2.540 [*x BHE
-0.070 —2.473|%* =y
-0.069 —2.444 %% HER
-0.073 —2.589 Kk RARAT
-0.072 —2.573 %% KERAF
-0.073 —2.612[%x EEE
-0.072 -2.567 |*x ZHE
-0.081 —2.873 %k LR
-0.073 —2.589 |skok EmE
-0.076 —2.701 %% ERE
-0.075 —2.655 %% [
-0.072 —2.577 %% L8R
-0.072 —2.560 %% wog
-0.075 —2.683 %% mee
-0.074 —2.635|%** ENE
-0.074 —2.628 % B
-0.076 —2.704 |%** S8
-0.075 —2.669 k¥ 2R
-0.075 —2.677 %% EBE
-0.074 —2.638 % EixE
-0.074 —2.637 % EAE
-0.074 —2.640 [xkk AR
-0.075 —2.678 kk BiER
-0.075 —2.663 k¥ ERSE
-0.078 —2.766 | Bl
GDP/GDPP 0.101 3.592 [xkx
PDLO1 0.421 13.020 %
PDLO2 0.299 5.222[%%*
T—EVSIT DR DEGREE=1 __ S.C=N E.C=N
2018 EHFAER
@pch(PGDP)| &% i
0 (&4 0.421 13.020 [k
1 (RITED) 0.721 23.418 [x%
&t 1.142 43196 |*x*
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